2et EmiutAo NMawdkoU Awpatiouv ACTIVE Apug — AvOpaki
SACTIVE.O5- NTOYAAINA

INSTALLATION MUST BE DONE
WITH 2 PERSONS.

OB

TOOLS REQUIRED

4 x
2X | (M4*22)

30 x
(3,5%25)

10 x







i ]

(ATTENTION 1)

| %01
I— 'im o
X3

?

i

.t




410

DIKKAT !
(ATTENTION 1)

A1







2et EmiutAo NMawdkoU Awpatiouv ACTIVE Apug - AvOpaki
SACTIVE.O5- TPA®EIO

_ INSTALLATION MUST EE DONE
F‘H WITH 2 PERSONE.
N







(ATTENTION T}




i




2et EmiutAo NMawdkoU Awpatiouv ACTIVE Apug — AvOpaki
SACTIVE.O5 - MONO KPEBATI

INSTALLATION MUST BE DONE
WITH 2 PERSONS.

8 x

X-09 X=10

3X 2 x
(3,5%25) | X (M4*22 )







sdi =

(ATTENTION )

X-01

X=-03







2et EmiuitAo NMawdtkoU Awpatiouv ACTIVE Apug - AvOpaki
SACTIVE.O5 - KPEBATI

S

INSTALLATION MUST BE DONE
WITH 2 PERSONS.

TOOLS BECQUIRED

-:1%: :
_‘#':'_ - 1-..1 i
s,
|
f

X-02

X-03

2x

X-11

fad
e

(M4*25)

e 4x
= (M6*50)

=14

4 x







Tt d

(ATTENTION )

X-01

O

X=03




T

(ATTENTION !)

X-01

B

X=03




_ ROYATTENTION !5]5
@Q%H@L_j @ ,@D [X01

3. BLOCK \ “ 1 BLOCK
&\ S e

\“ ok |

N

1.BL( }lf..'[-i@




